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deductions or withholdings Funds
withheld from an employee’s paycheck.

mandatory deductions Deductions
withheld from an employee’s paycheck by
law: social secunty, Medicare, and federal
Income tax.

voluntary deductions Deductions
withheld from an employee's paycheck by
request of the employee, such as insurance
premiums, dues, loan payments, and
charitable contributions.

Federal In
(FICA) feq

during the Great Da

retirement § Pression 1o provide

unds and hospital

¢ 1f the inflation rate this yearis .

9-5

Surance Contribution Act
eral legisiation enacted in 1937

nsurance for

. calculate the “adjusted” minimum w ALC Fale (g by

: 4
paid next year. S
: té
Ve
. . ™ Jlicious have to pay out next veur ar b, E.
4 How much in “additional wages will Delici pdY FEar At the F
adjusted rate”
(Optional) Go t0 WWW dol sov/whd/minwage/america.htm and click on your stage ¢
e‘ . = e - . . an | . o
ﬁnlcji the current minimum wage. Calculate the weekly “minimum wage  portion of the
o TR it is located 1n your state.
restaurant’s payroll assuming the restaurant 1 b it
Tt
mt

the restaurant chain or other small businesses can

onal) Suegest some ways that _ o
f. (Optional) Sugg bsequent decrease in profit as a result of the mini

offset the increase in payroll and su
mum wage hike.

EMPLOYEE’S PAYROLL DEDUCTIONS

loyees on seelng

“Hey! What happened to my paycheck?” This is the typical reaction of emp by

their paychecks for the first time after a raise or a promotion. As we will see. gross pa}
no means the amount of money the employee takes home.

Employers, by federal law, are required to deduct or withhold certain fun
deductions or withholdings. from an employee’s paycheck. Employee payroll
fall into two categories: mandatory and voluntary. The three major mandatory
most workers in the United States are subject to are social security, Medicare.
income tax. Other mandatory deductions found only in some states are state 1ncome
state disability insurance. —

In addition to the mandatory deductions, employees may also choose to have VO . i
deductions taken out of their paychecks. Some examples include payments for lite or he‘_. :
insurance premiums, union or professional organization dues, credit union savl

ds. known &
deductions
deduction
and fedt?l'ﬂ-l
(ax

! ngs depobn\

or loan payments, stock or bond purchases, and charitable contributions. . RE A
> . N
After all the deductions have been subtracted from the employee s gross earning In
remaining amount is known as net, or take-home, pay. h the
dSe

Net pay = Gross pay — Total deductions

AND .
HECP *,

ra'f
"'d-eﬁd;

g&lgru'rmc FICA TAXES, BOTH SOCIAL SECURITY
ICARE, WITHHELD FROM AN EMPLOYEE’S PAYC

In 1937 durin
g the Great ' 5 1% e F
Insurance Contributi at Depression, Congress enacted legislation known as th

and disabled work on Act (FICA) with the purpose of providing monthly benefits o
is assessed to vim:ﬁ and to the families of deceased workers. This social security 2%
worker’s income up t?; ?: 'Y Worker in the United States, is based on a certain pefcef"{ s
the tax rate was 19, “Pecihied Timit or wage base per year. When the tax begal g auld R
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Today the FICN v s divided g lwo ¢

~ | ategorie
aamds for Ol Age. Survinvors, and Disability .

5. Social securi
'ty tax (OASDI, wh;
: i "u X . » Wthh
Insurance) is retirement plan, and . wage base The amount of earnings u
The — securit Plan, an Medicare to which an employee must Pay social :
ation, consult the | ) Wage base changes every  security tax

| ¢ Internal Revenue Service Circular

2010, the followin
. 1 g rates and wage ba: .
d for all exercises in thic chapter eC base were in effect for the

tax 1 for health care and hospital INsurance
vear. For the most current inform
£ Emplover's Tax Guide. In

social security tax (OASDI) 0|
FICA tax and should be use ) Old Age,

Survivors, and Disability Insurance—a federal
tax based on a percentage of a worker's
income up to a specified limit or wage

o Tax Rate Wage Base base for the purpose of providing monthly
Social Security (O ASDI) 67 benefits to' retlred and disabled workers and
Medicare 1 450] $106.800 to the families of deceased workers
' 0 no limit Medicare tax A federal tax used to

provide health care benefits and hospital

When an employee reaches insurance to retired and disabled workers

the wage base for the she i :

‘ _ | \ year, he or she is no longer subject t
the tdx: In 20‘10: the maximum social Security tax per year was $6.621.60 ( 106g800 ><J.062)0
There 1s no limit on the amount of Medicare tax. The 1.45% is , |
, much an employee earns.

|

]
T
i

In effect regardless of how

EXRMP LE CALCULATING SOCIAL SECURITY. {sigisaiets
AND MEDICARE WITHHOLDINGS SIS

¥
PAYROELTAX HOLIDA
What are the withholdings for social security and Medicare for an employee with A’P"’tﬂ‘ﬂ 2010 Tax Relief Ac {?’
4 gross earnings of $650 per week? Round to the nearest cent. the empioyee’s portion of the Sotls

Security tax was reduced from 6.2%
to 4.2% for the tax year 2011. Thigs |

2ge base limit remained the sawe NIEIES

SOLUTIONSTRATEGY wage base it -
: : ; 459 The current FICA deduction '-I__H... o

To find the withholdings, we apply the tax rates for social security (6.2%) and Medicare (1.45%) and wage base are . in-the

to the gross earnings for the week: ' Srpain e
- Tl e R R R
Social security tax = Gross earnings X 6.2% " This and other tak forms sad’

| | _ R publications can bé obtained by
Social security tax = 650 X .062 = 340.%0 calling the IRS at 1-800-TAX FORM ¢

Medicare tax = Gross earnings X 1.45% by accessing its website, www.irs.gc

Medicare tax = 650 X 0145 = 9.425 = $9.43

-

) TRYITEXERCISEY

SMFL -

. . : o
What are the withholdings for social security and Medicare for an employee with gross earning

of $5.000 per month?

REACHING THE WAGE BASE LIMIT

In the pay period when an employe
base for social securit

YTD) earnings reach and surpass the wage

'¢ year-to-date ( , s
e ye ion of the earnings below the limit.

to the port

el i i e gl e b AT MY - o B ey -y

y, the tax Is applied only

I | _E %
WS CALCULATING SOCIAL SECURMT , o wooin BB A
LXHNIPLEI“ WITH WAGE BASE LIMIT e S
S 000, will || £ |
: ext paycheck, $5,000, i s §
far this year. = i ntof | © ' healthcare retorm £
)R - rned 51041900 50 : tv. What i1s the amou result of the historc he ;
I‘ I Cii -haS - er the wage base limit for secial SECUELY " ﬁzciage signed into law on March 23, 2010, l
pf't l:\er earr_‘llngs Ov_ ithholdings for that paychECk? the Medicare payroll 1ax will increase in 2013 |
-3‘; Vickie's social security wit for high-income individuals and couples :
e o
» | ¥ SOLUTIONSTRATEGY
1%
[116 - : h more she must carn {e
17- | Lt : .urity deduction, first determine how muc
3 To calculate Vickie's social secunty

- O

u‘d reach the wage base of %106,800.




Earnings subject 7o it Wage base — Year-to-date earnings
ings subject s = 106.800 — 104,900 = $1,900

Farnings subject to tax X 6.2%

Earn

Social security tax =
x = 1,900 X 062 = $] 17.8()_

Social security @

TRYE*E’EXERCISE 10

r-to-date earnings of $102.300. If his next paycheck is $6,000, what is j

Rick Nicotera has yea
amount of his social security deduction’

CHECK YOUR ANSWER WITH THE SOLUTION ON PAGE 299

OYEE’S FEDERAL INCOME TAX
THE PERCENTAGE METHOD

CALCULATING AN EMPL
WITHHOLDING (FIT) BY

In addition to social security and Medicare tax withholdings, an employer is also responsibk.

faderal income tax (FIT) A graduated by federal law, for withholding an appropriate amount of federal income tax (FIT) from eac
tax based on gross earnings, marital status, employee’s paycheck. This graduated tax allows the government a steady flow of tax reveni

and number of exemptions that s paid by ‘;" throughout the year. Self-employed persons must send quarterly tax payments based on est
workers earning over a certain amountinthe -0 4 earnings to the Internal Revenue Service. By IRS rules, 90% of the income tax dug fo

United States. ) _ o . :
a given calendar year must be paid within that year to avoid penalties. ._
The amount of income tax withheld from an employee’s paycheck 1 determined by i

or her amount of gross earnings, marital status, and the number of withholding allowan®
ption for themselves, one for they

withholding allowance, or

exemption An amount that reduces an or exemptions, claimed. Employees are allowed one exem -
employee’s taxable income. Employees are spouse if the spouse does not work, and one for each dependent child or elderly parent IN:

allowed one exemption for themselves, : :
one for their spouse if the spouse does not with the taxpayer but not working. bholding
work. and one for each dependent child or Each employee is required to complete a form called W-4, Employee's Wﬁhh'f’ al
form is used by the employer n

Allowance Certificate. The information provided on this

culating the amount of income tax withheld from the paycheck. Employees should keep ra?

elderly parent living with the taxpayer but

not working.

of their tax liability during the year and adjust the number of exemptions as their pers®™
| situations change (i.e., marriage, divorce, or birth of a child). (0"
ﬁzﬁigtﬁﬁeﬂzﬂe\? T taltet;n;:ﬁmfe The percentage method for determining the amount of federal income tax withheld "
i gl o n%]loun f; fear;[aeme;;;::' S an employee’s paycheck is used by companies whose payroll processing 1s on a Cﬂmpute:n;,i

Sosiicl rsrone T witiediding, system. The amount of tax withheld is based on the amount of gross earnings. (¢ "
status of the employee, and the number of withholding allowances claimed. T
| T_‘he percentage method of calculating federal income tax requires the use of two tab.le-g s
first is the Percentage Method Amount for One Withholding Allowance Table, Exhlt;in‘

e for the various

This table shows the dollar amount of one withholding allowanc
holding-

periods. The second, Exhibit 9-2, is the Tables for Percentage Method of With

e

Percentage Method Anjoun for One E’ ] , #
Withholding Allowance ayroll Period o e iding

Weady Allowance |

Weeldy ... | T 70.19
eekly.......... .. 7 h0.38]

‘ Semlmonthly ....................... 152.08

Monthly ... .. .. ... .. . _ oo T

....... 22 50

1,825.00
3,650.00 |

14.04

b BRI T T R

_i
%
l
i
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W thholding (For Wages Paid in 2010)

— s S Ser—

TABLE 1—WEEKLY Payroll Pqeriod

ot bauseholdi— (b) MARRIED person—
ong aTIOUDT O WAL 1 AT It the amount of wages (after
‘ ﬂ'brfihtirﬁ; h‘,iﬂ’i?’!t}ldﬂ‘:g e di’.‘ﬂi}uﬂt.ﬁf income tax subtracting Withhﬁldiﬂg The amount of income
Fowanes! is 0o withhold Is: allowances) is: tax to withhold is:
ot over $116 - 30 Not over $264 ........ ... . $0
I Over— But not over— of excess over— Over— But not over— of excess over—
§116 —$200 ... 10% —$116 $264 —$471 .. 10% —$264
§200 —$693 ... .$8.40 plus 15% —$200 $471 —$1,457 ......$20.70 plus 15% —$471
, $693 —%$1.302 .....%$82.35 plus 25% —%$693 31,457 —3$1809 ... $168.60 plus 25% —%1,457
€1.302 . . 0 G 7. $234 60 plus 27% —%$1,302 $1,809 —3$2,386 ... $256.60 plus 27% —$1,809
‘ $1,624 —$1.687 ... $321.54 plus 30% —3$1,624 $2,386 —3$2,789 ... $412.39 plus 25% —$2.386
$1.687 —%$3,344 ... $340.44 plus 28% —%$1,687 $2,789 —3$4,173  ......3513.14 plus 28% —$2,789
$3,344 222D s $804.40 plus 33% —$3,344 $4,173 —3$7.335 ... $900.66 plus 33% —$4,173
| BT DI omamamemmmsmms enranind $2,085.13 plus 35% —$7,225 T EE 1 L R ——— $1,944.12 plus 35% —%7,335
' TABLE 2—BIWEEKLY Payroll Period
|

It the amount of wages (after

subtracting withholding The amount of income tax subtracting withholding The amount of income
alowances) is: to withhold is: allowances) is: tax to withhold is:
Notover $233 ... $0 Not over $529 ......coorieiiiiinnn 30
Over— But not over— of excess over— Over— But not over— of excess over—
$233 —$401 ... 10% —$233 $529 —$942 ... 10% —$529
$401 —$1,387 ... $16.80 plus 15% —$401 4942 —$2913 ... $41.30 plus 15% ;zzsgﬁ
$1,387 —$2,604 ... $164.70 plus 25% —$1,387 $2,913 —$3617 ... $336.95 plus 2524, -
$2,604 —$3,248 ... $468.95 plus 27% —$2,604 $3,617 —$4,771 ... §512.95 plus 27% i
$3248  —$3,373 ...$642.83 plus 30% —$3,248 $4,771 45579 ......$824.53 plus 252%;.% e
33,373 —$6,688 ... $680.33 plus 28% —$3,373 $5,579 %8346 .....$1,026.53 D“US . ~—$8,346
$6,688  —$14,450 ... $1,608.53 plus 33%  —3$6,688 3346  —9$14,669 .....$1,801.29 p‘us 355; s~
$14,450 ... .. $4,169.99 plus 35%  —$14,450 §14.669. ... ceoireererierimneains 53,8?:,88 E}_us i  —AAbe

e ——

(a) SINGLE person (including head of household)—

-1t the amount of wages (after

(a) SINGLE person (including head of household)—

(b) MARRIED person—
If the amount of wages (after

_T;\BLE*‘:;—SEMIMONTHLY Payroll Perio

(b) MARRIED person—
i the amount of wages (after

., Subtracting withholding The amount of income tax | subtracting withholding The amquﬁt: ﬁiﬂi;@me
* allowances) is: bes aiebhisle] b | allowances) is: tax to withhoia 1s.
Not over $252 ... | T 61 — 50
...................... $0 Ot ove —
Over— But not over_ of excess over— | Over— But not over— of excess o:zg .
$252 —3$434 109 475 573 AL 133?80 jus 15% —31,021
3434 —$1502 . $18.20 plus 15% —$434 31,021 —$156 5p lus 25% —3$3,156
51,502 —$2821 17840 259 —$1,502 §3,156 —$3919 ... 5@650G P —$3.919
$2,821 33519 .. $508.15 F; Ez 27‘}2 -—$2:821 §3,919 —45,169 ... iggggﬂ Ealt:ss 25% —3$5,169
$3,519 —33.654 $696.61 plus 30% —$3,519 | $5,163 —S0OM 1 112.05 plus 28% —36,044
oo 8126 57y, s 28%  _s3654 | 604 42@52 ''''' $1/951 49 pus 33% — 39,042
246 —$15654 . 4174 . ' §9,042  —315894 - SO 415,892
$15,654 ... Méﬁg e ";f}‘é‘gi _____________________________________ §4.211.99 plus 35% -
S ———— T P PSR  period
; erio
¢ TABLE 4—MONTHLY Payrol
-’{a) SINGLE person (including head of household)— (b) MARRIED person—
gu tt:\e amount of wages (after i the amount of wadges (after e amount of income
tracting withholding The amg - htracting withholding | -
t subtracting hhold 1s:
| __.aﬂowances) IS to withh;I:i is;f reome e allowances) 15: tax 1o withno
git Over $504 ... $0 Not over $1,146 oo 0 N —
Ve~ But not over— — But not over— -
$504 —3869 . 10% of excess overB; Ov;r 146 —$2,042 a lus 15% —}S“Z :}iﬁz
$869 —%$3,004 $36 50 plus 15% “2369 52'.042 —$6,313 .- sggf?g; U‘ZS 25{:% “*‘“36. il
. —35,642 $356.75 pl ; 5 $6,313 =§71,B30 $ N lus 27° |
$5,642 —$7038 e 22 uT. 25% _-;g.ggg 57*833 _£10,338 ... $1,111.50 p‘us 27% —-—$‘7,838
$7 038 —$7 308 ---“.39 23 plus 27%  -—3$5,644 $10'338 _$12,088 ... $1,786.50 plus 25%  —$10,338
$7 308 ___“4*492 ------ ,393.17 plus 30% —$7,038 ‘088 418,083 . .$2.22400 plus 28%  —$12,088
$14 49, -—$31J303 ...,..;;,4?4” plus 28% 1#37.303 $1§*033 _¢31783 ...$3,90260 plus 33%  —$18,033
331305 7Y 3348569 plus 33% . ~-$14492 ) S1BLRS T §8,423.60 plus 35%  —$31,783
_ e $9,034.97 plus 35% 331,308 §31,783 oo

Catalog No 219748
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- TRPYE O TO CALCULATE THE INCOME
-t,_ E:. .; "g Yo » 3 3 1,' - 'r_L. : TAx
f *:& &% 1 BY THE PERCENTAGE METHOD

STEP 1. Usinﬁg“the proper payroll period, multiply one withholdine .
Exhibit 9-1, by the number of allowances claimed 4

STEP 2. Subtract that amount from the employee’s gross :
subject to federal income tax.

STEP 3. Erom Exhibit 9-2, locate the proper segment (Table 1, 2, 3, or
Ing o the employee’s payroll period. Within that segment, u
(a) for single employees and the right side (b) for married em

STEP 4. Locate the “Over—" and “But not over—" brackets

4) correspong.
ployees.

ce’s taxable wages from Step 2. The tax is listed to the right as a percent or 4
dollar amount and a percent.

Ii" sy

CALCULATING INCOME TAX
WITHHOLDING: oo ol vttt oaiins oo

el , S e '. ".:._-"-. 'I#.i"‘_‘ . % ll_ [
ot A e K A S A

Lori Fast is a manager for Wayward Wind Travel. She is single and is paid $750 weekly.
She claims two withholding allowances. Using the percentage method, calculate the
amount of income tax that should be withheld from her paycheck each week.

) SOLUTIONSTRATEGY

From Exhibit 9-1, the amount of one withholding allowance for an employee paid weekly
is $70.19. Multiply this amount by the number of allowances claimed, two.

70.19 X 2 = $140.38

Subtract that amount from the gross earnings to get taxable income.
750.00 — 140.38 = $609.62

_ . - kly
From Exhibit 9-2, find the tax withheld from Lori’s paycheck 19 Table 1(a). W?Sver
payroll period, Single person. Lori’s taxable wages of $609.62 fall in the Categorgg?OO.
$200. but not over $693.” The tax, therefore, is $8.40 plus 15% of the excess e

Tax = 8.40 + .15(609.62 — 200.00)

Tax = 8.40 + .15(409.62)
Tax = 8.40 + 61.44 = $69.834

Jan McMillan is married, claims five exempti
payroll manager of Jan's company, use the percentage method to €
income tax that must be withheld from her paycheck.

~:,'lh’3

ns $3,670 per
ons, and ear  Lcutate the 4ol

PAGE
CHECK YOUR ANSWER WITH THE SOLUTION ON

containing the employ. |

month. AS T
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DETERMIN::. G AN EMPLOYEE’S TOTAL
' WITHHOLDING ¥ OR FEDERAL INCOME TAX
J

SOCIAL SECURITY, AND MEDICARE U
COMBINED WAGE BRACKET TABLES SING THE

| In 2001. ic IRS mtmd}_lced combined wage bracket tables that can be used to determi
the mmbme({ amount of income tax, social security, and Medicare that must iJe withheld I;:;l:E
’ an emp]_o}:ee s gross earnings each pay period. These tables are found in Publication 15-A
| Empi(:f_rer S Supplemfema[ Tax Guide. This publication contains a complete set of tables for"
‘ hoth single and married people, covering weekly, biweekly. semimonthly, monthly, and even
datly pay periods. | |
Exhibit 9-3 shows a portion of the wage bracket tables for Married Persons—Weekly
i Payroll Period, and Exhibit 9-4 shows a portion of the wage bracket table for Single Persons—
Monthly Payroll Period. Use these tables to solve wage bracket problems in this chapter.

YO FIND THE TOTAL INCOME TAX, SOCIAL SECURITY,

AND MEDICARE WITHHELD USING THE COMBINED
WAGE BRACKET TABLE

v

STEP 1. Based on the employee’s marital status
corresponding table (Exhibit 9-3 or 9-4).

STEP 2. Note that the two left-hand ¢
are the wage brackets. Scan

containing the gross pay of the employee.
that wage bracket to the intersection of the column

f withholding allowances claimed by the employee.
acket row is the amount of com-

and period of payment. find the

STEP 3. Scan across the row of

bined tax withheld.

¢ . ; 5
o Ei | B i R s __4.]- %
T " il _'r- 7 iy _.-bl g R I S .1-
b ; "w - I.| rr. ) .,L T .
US'NG HE COMBINED WAG-E S Y . . a5, sl SN W e ™
~ L llh!l.ffhh‘ s -.i.-'.':L” T l,_;' e
I'; _.":-I t*_l e e . .
1 y = P 1_|

A% "
Tt -

BRACKET TABLES .o, .

EXAMPLE12

Use the combined wage brac
social security, and Medicare wit

gle employee claiming thr

SOLUTIONSTRATEGY

withholding, choose the table for Single Persons—Monthly
wn the “At Jeast” and “But less than” columns, we find the

“At Jeast 2,960—But less than 3,000.”
o right to the *3° withholding allowances column.
I combined tax to be withheld from Erin’s

to determine the amount of income tax,

monthly paycheck of Erin Lane, a sin-
d earning $2,975 per month.

ket tables
hheld from the
ee withholding allowances an

To find Erin Lane’s monthly income tax
| Period, Exhibtt 9-4. Scanning do
Erin’s earnings:
hat row from left t
on, $443.97, is the tota

Payrol
wage bracket contalning

Next. scan across t
The number at that intersectl

paycheck.

'§ TRYITEXERCISE12

ket tables, what 1s the total amount of income tax, social
uld be withheld from Brent Andrus’s weekly paycheck of
withholding allowances’

Using the combined wage brac
security, and Medicare that sho
$835 if he is married and clatms WO

CHECK your ANSWER WITH THE SOLUTION ON PAGE 299
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combined wage bracket tables IRS
tables used to determine the combined
amount of income tax, social security, and
Medicare that must be withheld from an
employee’s gross earnings each pay period.

Security
available at all U.5. Post Offices g

WWW.SOCialSeCHTity.g oy

!odalsewritynumbersa e Usel B
"the IRS as a taxpayer identificaliogas
number as well as by banks, cred¥®. -

unions, and other financial institutions..

¥ ¥ .

:i_;:!hfarmation aboudNe £
Soicial Security account can DEIK
obtained by filing & Foi py-7004-51
t for Earnings and Benelifiy
Estimate Statement. The form may o
obtained by calling the Social Securliy,
Administration at 1-800-772-1213 ol
by transmitting yotllf!'equ tﬂng!ﬁ




Solve the following proble
and 1.45%, no wage limit,

s for social se

for Medicare tax.

1 What are the withholding
earnings of $825 per week'

g75 % 062 = $51.15 Social security
275 X 0145 = $11.96 Medicare

7 What are the social security
gross earnings are $108.4307

3. Brian Hickman 1S

per month.
» What are the withholdings for social
paycheck?

c.  What are the social securit
named in part b?

4. Kristy Dunaway has biweekly gross earnings of $1.750. What are her total social €

and Medicare tax withholdings for a whole year?

As payroll manager for Freeport Enterprises,

monthly social security and Medicare withholdings for the

b, In what month will Brian’s salary reach the social security

it is your task

Year-to-Date Current
Employee Earnings Month Social Security
“ 5. Perez. J. $23.446 $3.422 - $212.16
v 6. Graham, C. $14,800 $1,540 S
\ 7. Jagger, R. $105,200 $4,700 .
8. Andretti, K. $145.000 $12,450

_#ﬂ—

y and Medicare tax withholdings for Brian it

to calcul
following emP

— . . uF

ms using 6.2%, up to $106,800, for social security ,,

curity and Medicare for an employee with gro,,

and Medicare withholdings for an executive whose anny

an executive with Westco Distributors. His gross earnings are $9 8(

wage base limit’

he mont!

curtt)

ate
joye®

Medic"
4

| O

O

W\

security and Medicare for Brian in his Januan

h-'l-—.-_

'y
!{

14. Hov
earn

15. Jerel
Calc
Med

Emp
16. Altol
17. Emel
18. Rees:
9. Bens

BUSIN

20. You ¢
direct
tour v

Ir
Incon
lerm |




1 o ¢ * 4
1‘:*11“5'1“ ' : :

\ Use the percentage method of incom :
l sayroll roster. € tax calculation to COmplete the following
Marital Withholdi
_; : ]_ ~. Ing Pa
Employ e Status 1_*’,"1_'9??110&5 Periﬁ d E;};:;is &?Gme Tax
9. Randolph. B. A u k — Doy
10 Wh': I;r | - Weekly $594 %]8 %
- White. W, |
i B > 0 Semimonthly $1,227
| , F | :dn D' ; ] Monthly $4,150
12. Farley. D. M 4 Biweekly $1,849

, Exhibits 9-3 and 9-4, to solve Exercises 13-19.

. hheld from the paycheck of a marr;
o : -. led empl
earning $1.075 per week and claiming four withholding allowances? e

14. H(}W_ much combined tax should be withheld from the paycheck of a single employee
earning $3,185 per month and claiming zero withholding allowances? )

15. Jeremy Dunn is single, claims two withholding allowances, and earns $4,025 per month.
Calculate the amount of J eremy’s paycheck after his employer withholds social security.
Medicare, and federal income tax.

Marital Withholding Pay Gross Combined
Employee Status Allowances Period Earnings  Withholding
16. Alton, A. S 3 Monthly $4,633 $886.43
17. Emerson, P. M 5 Weekly $937
i18. Reese, S. M 4 Weekly $1,172
i 19. Benson, K. S 1 Monthly $3,128

Uol2, 8.

i AWDITS DIVISION
£
@
o
m
&
i
0
o
b
=
49},
=
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BUSINESS DECISION: TAKE HOME PAY

20. You are the payroll manager for the Canyon Ridge Resort. Mark Kelsch, the market.ing
director, earns a salary of $43,200 per year, payable monthly. He is married and claims

four withholding allowances. His social security number is 41-‘14—44-4444.
In addition to federal income tax, social security, and Medicare, Mark pays 2.3% state

aritY income tax. ~% for state disability insurance (both based on gmss.eamingsJ, $23.74 for
term life insurance, $122.14 to the credit union, and $40 to the Umt?d Wlay.
Fill out the following payroll voucher for Mark for the month of April.

Canyon Ridge Resort
Payroll Voucher

Tax Filing Status:

P th® Efsflﬁ.lﬂyee: Withholding Allowances:
'3 . _

Iyee Full-time Pay Period From To
Pﬁm;_n'y W"[hh()ldiﬂg';' Additional Withholdings:
g 1 g

art - -

- F‘ederal Income tax

i Social security

L Mt‘—dicare
State iNcome tax B

ol State disability

- Gross Earnings:

— Total withholdings:
NET PAY
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% EMPLOYER’S PAYROLL EXPENSES AND
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SECTION Jif:

&% . SELF-EMPLOYED PERSON’S TAX RESPONSIBILITY .

To this point, we have discussed payroll deductions from the employee s point of view. Now let’s .
take a look at the payroll expenses of the employer. According to the Fair Labor Standards Act. .
employers are required to maintain complete and up-to-date earnings records for each employee SELF-EM

Employers are responsible for the payment of four payroll taxes: social security, Medicare, state

unemployment tax (SUTA), and federal unemployment tax (FUTA). In addition, most employ- The self-er

fringe benefits Employer-provided ers are responsible for a variety of fringe benefits that are offered to their employees. These are _(SECA) tax
benefits and service packages over and benefits over and above an employee’s normal earnings and can be a significant expense [0 the Ings from s
above an employee’s paycheck, such as employer. Some typical examples are retirement plans, stock option plans, holiday leave. sick days. - S‘ilf'dem
rate ded

ension funds, paid vacations, sick leave, and : . . : ; : .
Eeanh insuranc: health and dental insurance. and tuition reimbursement. This section deals with the calculation of

therefore m,

these employer taxes as well as the tax responsibility of self-employed persons.
laX rates are

COMPUTING FICA TAX FOR EMPLOYERS AND SELF-
EMPLOYMENT TAX FOR SELF-EMPLOYED PERSONS

FICA TAX FOR EMPLOYERS

Employers are required to match all FICA tax payments, both social security a
made by each employee. For example, if a company withheld a total of $23,0001
from its employee paychecks this month, the company would be responsible for a mal
share of $23.,000.

ﬂd Medlf:lfe

n FICA faie’
chiné

EXAMPLEL S3mns o8 1 fomoveniz

. 'y .
Spectrum Engineering has 25 employees, each with gross earnings of 6250 P | -
week. .

i
" gt
a. What are the total FICA (social security and Medicare) taxes that should be withheld froft

employee’s weekly paycheck?

b. Atdme end of t‘he first quarter (13 weeks), what were the accumulated totals of the €mp
and the matching taxes for FICA that Spectrum had sent to the IRS?

Joyee § W



2. Social security tax = Gross €arnings X

0.2% = 250 x 062 = $15.50
Medicare tax = Gross earnings X 1459 — 250 X .0145 = $3.63
Total FICA tax PCT employee per week = 15.50 + 3,63 = $19.13
b.

Total FICA tax per week =

FICA tax Per employee % 25
Total FICA tax Perweek = 19,13 x 25 = $478.25

Total FICA tax fipst quarter =
Total FICA tax first quarter =

employees

Total FICA tax per week X
478.25 X 13 = 0,217.25

Total FICA tax first quarter—Employee’s share =

13 weeks

$6.217.25
$6.217.25

Total FICA tax first quarter—Employer’s share =

, ETRYITEXERCISE 13

Big Pipe Tree Service has
With erogg €arnings
share of the social s

18 employees, 12 with gross earnings of $350 per week and ,6
of $425 per week. What are the employee’s share and the employer’s

; 7
ecurity and Medicare tax for the first quarter of the year®
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CHECk YOUR ANSWERS WITH THE SOLUTIONS ON PA

d the employer and
. are the employee and Ul -
ees. Technically, they ial security and Med
erefore mll;tzzyf%;;msil;r};s. For a self-employed person, the socia
laX rageq © Wice the normal rates, as follows:

Tax Rate Wage Base
T g w oy $106.800
Mocm 2.9% (1.45% X 2)
edicare '

| G SELF-
) XAMPLE14 Sicame 32 .
F ' d landscaper wit
| f a self-employe
Wha ar : d Medicare taxes o
® the social security an
et ‘-‘arnings of $43,800 per year?

Tg find
*Xiaj

| ' 12.4% {or
-employed tax rates,

h ot tax due., we apply the self-emp

e amoun of self-employme

het earnings.
*ECurity ang 2 gg tor Medicare. to the

: Tax rate
Ocig] SCCUrily tax = Net earnings ~ £5.431.20
Social security tax = 43,800 X 124 = 35431 20

{4
Mcdicar: tax = Net earnings X g ": 0.20)
Mcﬁ.c;u-c [ax cun 43'3“] pYd I]Qg = $lt-ﬁ7 -
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